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@D 0.363636--- = 0.36 @2.456456~ = 2.456
® 0.053053053--- = 0.053 @ 1.2777---=1.27
(3 0.342342342--- = 0.342

@ 2.456456 - - - = 2.456
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®al+a*=a% aF=a% x=4
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x=2,y=-1%4 o, 2(x* - 3x)

=3x(x+y) +x2 9

e Fatolet

2(x% = 3x) = 3x(x +y) + x?
= 2x% — 6x — 3x% — 3xy + x2
= —6x — 3xy

(FA)=-12+6=-6

x=2,y=-1% A2 fgsta
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ohEollA mAl=7E 2 Q1 A A B A=Y (Y 270)

®x-1=0 @ 2x-1=x @y:2x+2
@ xy=1 @x—y:l

D@ A4 1 A DA
@ ax+ by + ¢ = 0 o] o BZ Az 4o] opct,




8.  AAL x, yoll tHote] x + 3y = 132 W5k (x, y) 9] HeE?

® 2 @3 @ @ 5 ® 6

x =13 -3y o] A= HYS stH
(1,4),(4,3),(7,2),(10,1)
AT
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ax + 4y = 11 9] 37} (1,2)

A, a9

(1,2) 5 ax + 4y = 11 o] 3t

a+8=11

La=3




3 = -6
10. A=Al { x+ay o] &fi7F (2,-3) € W, a+ b O] B

3x+ay=-6°l 3 (2,-3) = Y
6—3a=-6
—3a=-12

La=4

bx-5y="7° % (2,-3) & dHY

2b+15=7
2b = -8
Lb=-4

a+b=4-4=0
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13. o % x =21.1032 B2 YehfiE Astel A 2ol 429

@ 10x-x @ 100x —x @1000x —100x

@ 100x — 10x 3 1000x — x

x = 21.103 = 21.10333--- ©|BL& o] & B2 Yehfjr] 9t
A2 1000x — 100x ©] T}
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15. o2 3 7M 2 =2

@ o2 @072 @o.? @ 0.7 ® 0.72

~&B

® 0.72

@ 0.72 =0.7222- - -
®0.7=0.777---
@ 0.7

® 0.72 = 0.727272 - - -
watA] 7 2 4= 0.7 ot}
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17. b5 27 &2 AS 25 127

@ a?x (a®h)? + ab = ab”
© (—xy)® x3x%y +y* = =3x%?

® (-2a)x ( “ )3 =2 = 4a'

p2) b3
® 6 ®@o ® 6.0
@ ©,.0 5 3,0,0

~&B

@ a® x (a®b)? +ab = a’b

© (=xy)3 x 3x%y + y? = =3x%?
3 4

@(—2a)2><( a) . a 4a
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18. 2x-3[x+3y-2{x+2(-y+x)}] =ax+by W, ¥ a, bl
iste] a - b ] FH2?

@7 @ 10 ® 21 @38 ® 52

B )

2x-3[x+3y-2{x+2(-y+x)}]
=2x-3{x+3y-2(x-2y+2x)}
=2x—3(x+ 3y —2x + 4y — 4x)
=2x—-3x—-9y+6x—12y + 12x
=17x - 21y

ca—-b=17-(-21) =38




19. (-5x+2y) (%x— 3y) = ax’+bxy+cy> Q W, A a, b, ¢ ol s}t

a+b+c 9 7e?

11 13 15
®5 @ ®2 @7 @

1 5
(=5x + 2y) (ix - 3y> = —§x2 + 16xy — 6y?
= ax® + bxy + cy? °|B &,

az—g, b =16, c = -6 °|t}.

webA] a+ b+ o= 22 ole,




20.

o= & FollA - Hop 231 - Hop 22 = 5E 9 71717
01, 02, 03, 04, 05
© gltt @ 17 3®)2 7N @ 371 ® 474

Z<x<§

0.25<x<0.5
 x=03, 04
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22. & TN 7F2 2aem , A2 aem Q) AAZHY grol] 187} 2ol
[e3]

lem ZFA ] ¥] HHo| o]S mf M2t BEo] Yol
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acm
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= 4
1ém
® a?-3a—1 (cm?) @ 2a®-3a-1 (cm?)
@2512 -3a+1 (cm?) @ a®+3a-1 (cm?)

® 24? -1 (cm?)

S =(2a-1)(a-1)
=242 -3a+1




23. a—-3b 3a->5b

 E— =2a-b & a ol ¥l FH?
2 2 4
= — = —— = —b
D a ZI)(I)J @ a lg’b ® a 5
@ a = 29b @a— Eb

~&B

o] 125 FotHA
4(a - 3b) — 3(3a — 5b) = 12(2a — b)
4a —12b — 9a + 15b = 24a — 12b
. 29a = 15b
15

—
4= 59




24. x=ala-6)d W, (a+1)(a-2)(a-4)(a-7)& x| FF Ao
e ?

@ x*-36 @ x2-6 ® x2+x
@ x24+x-36 @x2+x—56

B
x=a(a—6)=a*-6a
(a+1)(a-2)(a-4)(a-7)
={@a-2)a-D}{@a-7(a+1)}
= (a® - 6a+8)(a® - 6a—T)
= (x+8)(x-7)
:x2—|—x—56
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1 1 a+b

St =3

. 3ab=a-+b
a+3ab+b  3ab+ 3ab

a—ab+b  3ab—ab
6ab

~ 2ab
=3




